RERE-AIVITRERRISOVTHEER A

D9/13LEH ettt L
55
100Bg/ kg% X 5L D0
BREHEE

No BT EA HElniELE trL-134 t 9 L-137 EEE
Ba. kg Bg. kg Ba ke

1 BT R5.9.14 =S| BREE9(<7.8) BHEE9(<8.5) BRHEEY

2 BT R5.9.14 =S| BREEI(<11) BRHEE9(<6.6) - Janpcc

3 3= )IET R5.9.14 =S| BREE9(<9.0) BREE3(L7.1) - Janpcc N

4 At R5.9.14 =S| BREE9(<8.7) BRHEE9(<9.0) - Janpcac N

5 ERF R5.9.14 =S| BREE9(<94) BREE3(L7.1) - Janpcc

BRBEECIBTA—REBEROREE 9L 100Bg/kg(t>HL-134, £ H L-13TDEE(E)




RERE-AIVITRERRISOVTHEER A

@29/14LEH ettt L
95 h
100Bg/ kg% X 5L D0
BREHE

No BT R HE HElniELE trL-134 t 9 L-137 EEE
Ba. kg Bg. kg Ba ke

1 KEH R5.9.15 =S| BREE9(<7.9) BRHEE9(<6.2) BRHEEY

2 EZAM R5.9.15 =SS BRHE9(<8.6) BREEF(1) - Janpcc

3 EZAM R5.9.15 =SS BRHE9(<8.0) BREE9(<7.9) - Janpcc N

4 EZAM R5.9.15 =SS BREE9(<8.2) BRHEE9(<8.3) - Janpcac N

5 SRR THT R5.9.15 =SS BREE9(<9.8) BREE9(<8.7) - Janpcc

6 SRR THT R5.9.15 =SS BREE9(<8.2) BREE9(<84) - Janpcc N

7 EEAHT R5.9.15 =SS BREE9(<8.7) BRHEE9(<6.7) BRHEY

8 EERAHT R5.9.15 =SS BRHE9(<8.5) BREE9(<7.0) BRHEY

9 ABIH R5.9.15 =SS BRHEEI(<11) BREE3(<7.9) BRHEY

BaBEE B2 —REBEROREE 9L 100Bg/kg(t>HL-134, £ H L-13TOEE(E)




RERE-AIVITRERRISOVTHEER A

B®9/15LEH ettt L
1&@
100Bg/ kg% X 5L D0
BREHEE
No BT EA HElniEsE trL-134 t 9 L-137 EEE
Bg. kg Bg. kg Ba ke
1 BT R5.9.15 =S| BRHEE9(<6.4) BRHEE9(<6.2) BRHEEY

BRBEEEIZBT2—REROEEE £ 9L :100Ba/kg(E>H L-134, £ 9 L-13TDOEEE)




